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Rovo said, from here; ‘his Korbon’, but not a stolen one

OVERVIEW

Our X773 states that X217 maintains that we derive the rule of 7237 11°R ¥IX* from the
P09 of (7127 X21) 11270, There seems to have been some confusion whether the text
should read 727 or X27. Our N1d0IN confirms that the text reads X27.

- 199N N9 29 9799391 1N NP N29 XYY 19909) N9
The text reads 829, but not 1739, since the X712 concluded, ‘X2 39 (not X27) said

one of them’ -
=139 NPNY RA9Y N9 29 192 NIN DIV 1PN N

And they would only make a mistake between 825 39 and X231 who was the

teacher of 0" -
=10 N29 929V 09120 1N ONYI 0927 N99 29 99N NPV O2IY)

And occasionally when 2'"% would state things anonymously they would

assume that these are the statements of X29, therefore when %95 21 made a statement
regarding ¥’ it was mistakenly attributed to X237, even though X217 maintains the exact opposite;

this is how the error may have happened -
- 2myoYy 199199 17 XY N29 9295 N9 24 937 )°2 VAN

However there could not have been a mistake to be confused between the
rulings of "9 and the rulings of 72=.

mooIN continues to clarify the X077
- %919 DTN NI 129WN XA >1Y 9N ©9) (30 qm YN

And previously the text reads; 827 said to »2x when it states 2777 871 125w, etc. —

mooIn anticipates a difficulty with this Xo7a:
= AN AYPN NI 0 297 NONNY 93 MN NAT 2N JY 9N

' The X7m3 shortly asks how can X321 state that WX is not 7P, when previously (2,10) we find that X2 replied to »ax
that we can maintain that 2> is 7279 (and the 109 of 2737 X921 1127p is in a case where 7°12n7 129 713), indicating that
X217 maintains ¥IX° is 1. The X3 answers that one of these two statements (either that wIX> is 7139 or is not 71p)
was made by 55 17 and the other was made by X279, and by mistake they were both attributed to X27. See ‘Thinking
it over’.
2 Therefore since the X3 attributes this mistake, we must conclude that one statement was made by 5"9 and the
other by X217, but not by 7121.
? »2x there asked a question on ;727, who maintained *3p ¥, from the Xn>72 of 217 891 11277 According to Moo
it was X271 (not 727) who responded to "2X.
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And even though that it is 729 (not X27) who is the dissenting partner of 29

neY, and »aR directed his question to ﬂ:ﬁ,4 so how can Mmoo state that X2 replied to
33:& —

mooIn responds that nevertheless -
= 19 25WN N9 NIN 0199 1D 25N XY 1YY NA9T 9010 7498

It is necessary to say that ;7129 himself did not answer anything to »2X, but

rather X219 answered »ax, we must say this -
- 519K NS 29 1799391 10T NP 729aNT 1297 HTAT TIRT XY N9 KDY X9 759971

Since the 87723 here asks (on the statement of X271 here that °1p X% vIX°), ‘but it is
X327 who stated that 57°92r7 3299 913’ to which the X713 replied and said that 5"

made one of these statements; proving that both here and previously the X073 is 827 (and
not 1727).

Mmoo offers an additional proof that the X073 in the previous X713 is X27:
- N29 1799 9N D2¥7 ©9) 09991 7527 Yynwn 19

And it also seems so (that we are X271 0712 previously), for all the texts read; ‘RXan
said to him’ -

= 129D NYPNT 1175 N9 9ITNY TA98 NN RDY NPD 99N 919910 N %N 132WN NAY IN)
And if 5739 (not X27) replied to »2aX (as the other ¥07 claims), the X3 should
have merely stated, ‘he said to him’, for it is not necessary to mention ;729 by

name since *aX was asking 739 directly; the fact that the X3 mentions a name, indicates
that it was not 7127, (but X27) who responded to *2X, so it is necessary to say that here too the
XD 1s X21; otherwise there is no contradiction.

mooin offers an additional proof that the X073 here is X2":
- %537 Y 519 WINOT 199 1IN KT (Dwr 3,m 97 posy) PPTIN YN 19

And it also seems in P17 P92 that X299 maintains that 2IX° alone is not 7312 (as
it states here) -

* If we assume that the X073 there (on 2,70) is 1127 (as MdOIN is suggesting now), then we will be required to assume
that the text here too reads 7121 because we are contrasting these two statements; the statement here that >1p X7 WX
and the statement previously by the same author which indicates that "1p WX
5 The X3 cites a contradiction between what was said here (that *3p X7 wX°) and what was said previously (on 2,10)
that 7°12n7 1277 213 which indicates that >3 wie. It is therefore necessary to assume that the same person made both
statements; otherwise there is no contradiction. From the fact that the X713 concludes 7nX "9 7171 71 indicates
that it was X271 who (purportedly) made both statements and since 5" may be confused with X2, one of these two
statements was mistakenly attributed to &27. It cannot be that 727 (purportedly) made these two statements since he
would not be confused with 5"9.
% See “Thinking it over’.
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- 9919 $7359 NP3 INNY WTPA NYWN IN N2 NYYN NOMYAA 1339 MNDIN 59 /XA Sya4
For 829 queried there; when the 3129 placed it in his possession, was it placed
there from the time he stole it or from the time he made it @w7?77; the difference

would be regarding, etc. This concludes the citation from the X723 there. maoIn concludes -
- Tmwaa N1 925 WING NYWN MNah YaY 2P VINY ON)

And if wIN° is 792 (according to X27) so it is already in the nw9 of the 21 at
least from the time of 2R onwards! This proves that X217 maintains >Ip X? 73 WX’

mooin offers yet another proof that it is X327 who maintains >1p X7 WX
- 391 NPT MY INY W MY 899 X3 IMRP (0w 2,07 91 IRINA P93

And in the last P99 it is X219 who stated that the domain of an heir is not like

the domain of a buyer -
= NN 93 997 NPNNY 92 NINT XA BN 12’)‘,7 N VINYT %D 5INT 0NN YN

It appears from there that X217 maintains °1p X% 283, and there it is referring to

X127 (not 7127) for it is X217 who is the dissenting adversary of 17''39 (not 727 who
lived in a previous generation).

mooIn anticipates a difficulty:
= INONI 22) (3,19 97 x> Na3) HINOEN YN 7992 N9 99INT N

7 The ®n>™a there stated if one stole an animal and was then w*7p» it and then he was 9911 v he only pays %921 1P
for the stealing but not 'm "7 for the 717°211 772w, for the 1127 placed in his MW" since he was w>7pn it (it is considered
w7pn that if he was 2°7pn it outside the 771v he is liable for yIn *vInWw). Since it is in his MW he is 71211 72w his own
animal. X211 queried, in the case where he was w>7pn it, at what point did the 0°»on place it in the N of the 213; was
it retroactively from the time of 712713, or (later) from the time of w7pii.
¥ The practical difference will be if the animal was shorn or it gave birth between the 72°3 and the wpn. If the o"nan
placed it in his M1 from the time of 72°13 the M7%M M3 belong to the 21, if however if it is in his MW" only from
the time of w71 onwards, he must return the M7211 NI to the owner.
’ What is the relevance of s'%21 query; even if we assume that the 2371 placed it 1mwa2 from the time of w7ps,
nevertheless the 213 will own the M7oM M) from the time of WX, The owners were certainly wxX>» before the 213
was w7pn it (otherwise it cannot become w7pi), so how can X271 consider that perhaps it belongs to the 211 only from
the time of w7pm; if *1p WX’ it belongs to him from the time of wX> which precedes the time of w7pi.
' The mawn there states that if someone stole (then died) and he left over the stolen item to his heirs, they are exempt
from repaying the original owner. X 12 °n7 derived from this 7w that *n7 nP1? MW" W MwD; meaning that just
as if a 213 sold something (after wX*) the buyer acquires it with x> and N1 1w and is not obligated to return it to
the owner. The same applies to the heirs that they acquire it with mw~ "11w1 WX and are not required to return the
stolen item to the owner.
' x21 disagrees with n"2 (see footnote # 10) and maintains that the possession of the w1 is not the same as the
possession of the mpY? and the 0°w"Y must return the stolen item (for the item still belongs to the owner since there
was no M "rw (for m? MW R? w1 M) and wIX° alone is not 1p; when the 71wy states that they are exempt,
it is discussing a case where the 0w already consumed the item and it does not exist, so they are not required to
pay the owners since they did not steal it.
"2 See footnote # 11. If *3p W then even if *»7 mPY2 MWD WY WA M they should not be obligated to return it
(even if they did not consume it) since they acquired it through %> and they did not steal it.
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And that which x21 stated in nIX>2» Y9 779 regarding a found object -
- 19193 923y 75TY M3 Yy WING 2399 NHV)
If a person took the 7X°xn before the owner was wX» with the intent to steal it,

he transgresses all of the prohibitions mentioned there -
- 9 25159 NI NYYA NINN YING 9N AITANT 2 Y GN)

And even if he returned the item to the owner after wIN>, he is merely giving

him a gift, and it is still considered that he transgressed these 2>10°X. This (seemingly)
indicates that °1p WX,

mooIn responds that -

29T YN AWITPAY IN NN YINY DI3NT 1190 DIPN U1 1P RY YINT 2) Uy 9N
Even though 17 X% 28> nevertheless he is considered a 1213 since the wX> was
effective to the extent that he can sell it or be w’7P? it and it would be an effective
770n or wIpa. His act of initially stealing it, together with the vX> has the power to remove it
from the owner’s possession entirely through 77°2n or w7pn, therefore it is not considered
returning an object to its owner, since it is somewhat removed from the original owner."

SUMMARY
It is 827 (not 7127) who maintains >1p X? WX

THINKING IT OVER

The X n3 stated that one of the statements (either that >Ip WX or °1p X?) was made
by "1 (and the other by X21);'® indicating that the X1»3 is uncertain whether X217
maintains *3p WX> or not. Later however'’ msoin proves that X271 maintains K> W
1. How can we reconcile this apparent contradiction?!'®

" X321 enumerates the following prohibitions; 29yn7 21 X% ,02°Wn 2wWa 210 KY.
4 This would be understood if we maintain *17 WX, so now the items belong to the 1773 (the finder), and he stole it,
but he is not returning the lost object to the original owner since now the 7711 is the owner. However if *1p X7 v
and it still belongs to the owner why is he still considered a 7213 (and why did he not fulfill the mx» of n1wn awn)
since he is returning the article to its lawful owner. See moin there minn 7"7.
1% See mwn nom1 and NwA NP
1 See footnote # 1.
' See footnote # 6.
'® See 17 7 and 7wn nn.
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